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QUESTION 1

Which two features are implemented on the Packet Forwarding Engine? (Choose Two) 

A. Chassis Management 

B. Firewall Filters 

C. Class of Service 

D. Routing protocol update 

Correct Answer: BC 

 

QUESTION 2

What is the default route preference for OSPF internal? 

A. 100 

B. 150 

C. 5 

D. 10 

Correct Answer: D 

 

QUESTION 3

How would you change the display so the display so that 40 lines will be displayed in the terminal program when you
are logged into a Junos device? 

A. Issue the set cli screen-length 40 command from configuration mode. 

B. Set the display options in your terminal program. 

C. Issue the set cli screen-length 40 command from operational mode. 

D. Set the windows size of your terminal program. 

Correct Answer: C 

 

QUESTION 4

What are three benefits of using a dynamic routing protocol? (Choose three.) 

A. increased network security 
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B. decreased network latency 

C. increased network availability 

D. greater network scalability 

E. lower administrative overhead 

Correct Answer: CDE 

 

QUESTION 5

Which two statements are true regarding dynamic routing? (Choose two) 

A. Dynamic routing is used when absolute control of routing parameters is necessary 

B. Dynamic routing allows a device to automatically reroute traffic around a failure 

C. Participating devices dynamically learn routing information from each other 

D. Dynamic routing requires more administrative overhead than static routing 

Correct Answer: BC 
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